AR KB K E R R E (RS

— SERL3EE (200148)
R F A P SRR 0 s AR
H ] g 4 i AR IRLEL S r 834 in TEEG T
G e A I I e I E T I B I T B I B B o E I o B e B
HEH He | 1/9 [ 1/28 ] 2/6 | 2/13 ] 3/6 | 8/13 | 4/10 | 4/17 | 5/8 | 5/15-| 6/5 [ 6/12 ] 7/3 [ 7/10 |
K & W & | B | & | M | W[ & | B | & i | & | & | &
BRIEZ W4 ] 9:25 | 8:45 | 9:37 | 9:29 | 10:40] 8:23 | 8:54 | 9:12 | 8:09 [10:13] 9:55 | 6:54 [ 8:85 | 7:28
4K m |3.88)3.82/8.80)874/38983)8.82(378375)363)372]8378]359]|38.50]8 54
Bokkig m |0.50)0.50]|050]050]050]050)050]050]050]050]050]050]0.5G]050],
AR °C 29 | L7 | 47115181140 /([165[18.0]18.1]127.0[27.0]19.1126.]1]28.6
&K °C 4.4 139 46| 48185 (79 [155]|17.8(18.022.6)24.01287](282]29.2
N 1 REB | SRR HERIBE | BURIBE | MIRISE | BRISE | RIS | BIRISE | BB | muriem | einE | RIS | AR
L ACES) fEs | Jes | e | Jes | deR | JER | Jel | el | IR | R OOV R | e | e
BYLE cen ) I7,8127.5)21.4/26.0]21.3([23.0]21.9| 154152156 15.2]21.8]26.1] 155
B m 1.0.20)0.4500.28]0.82]0.,45]0,42) 0,51 ] 0.38.]0.80)0.40]0,15]0.46] 0.51 | 0.36
k& 17 16 18 16 18 16 16 16 17 16 19 17 16 17
pH — - — - — - — = - — - - — —
DO ng/1 — — — — — — — — — — — — — —
BOD ng/1 — — — — — — — — — — — — —
" CcOD (Mn) ng/1 | 5.84]6.44]6.25[580]5.78(6.12]768]8.89]7.82]894]841[6.74(6.75]8.58]
D:COD(Mn) | ng/1 14.20]4.66|4.56[ 518|471 [4.26]14.55(5.1214.86]4.64]3.93{5.05]4.8114.90]
‘PrcoD(Mn) | meg/l | 1.55 ] 1.781 1,69 0,67 [ 1.07.(1.86]3.13|377)2.96)4.30)4.48]-1.69]1.94 | 3.68
CoD (Cr) ng/1 - - - - - - - - - — -
D+«COD (Cr) mg/l — — - — — — — — — — — — — —
58 ng/t 112,61 8.6 [12.0/12.6) 9.3 | 10.0]16.0| 18.5[ 16.6 | 16.5| 18,0 | 13.5] 10.5 | 18.5
RISHHE wPH/100m| — - - - - l.—- 1 = - - - - - - -
TN ng/1 12.30(2.27(285(2.461(2451245(12.4712.001 L.78 1 1.7711.65 | 1.79( 1,961 L 85
TP ng/1 {0,14710.118/0.121)0.109]0,088]0.074({0,109]0.11710.134[0.117]0.116]0.100]0.100]0. 151
NH,;—N ng/l 10.05]0.03]0.08]0110.05]0.04(0.04]005]0.04]/0.01]0.03]/0.12]0.22]0.40
NO,-N mg/1 | 0.015]0.016]0.018]0.019]0.019]0.01710.021]0.023|0,022(0,027]0.030]0,037]0. 05710, 075
NO4z—N mg/l | 177 | L56| 1.721 1,97 1.59 | 1.57[1.59 | 0.84 [ 0.75 [ 0.68[ 0.75]0.951 0.89 ] 0.80
‘IN mg/1 | 1.84 | 1.61 | 1.82|2.10) 1,66 1.6 1.65] 0.91 | 0.81 10,721 0,81 | 1111 1,17} 1.28
ON mg/1 | 0.5110.66[0.55) 0.44]0.70]0.7010.75]0.99/0.8910.99[0.841]0.70] 1,010,868
D+ ON ng/1 — — — — — — — — — — — — — —
‘P ON ng/1 = - - - - - - - - - — — — -
‘DTN ng/l | ~— — - — - - - — - - - - - —
‘TN ng/l | 2.35( 2271287 |2.54]2.36)233240)1.90]1.70] L.71]1.65] 1.81]218] 1.96
D:PO4-P ng/1 |0,014]0.008(0,011)0.009[0.010]0.005]0.004(0.006[0,003[0.006]0.007]0.009)0.013]|0. 038
D:TP ng/t J0,071(0.015[0.033/0,025)0.027]0.01810.017/0.018]0.046]0.019]0,0220.0280.027]0. 071
‘PLTP ng/1 10.076)0.098]0.088]|0.084]0.061}0.056)|0,082]0.089]0,088)0,098]0.,094]0,077]0.073]0. 080
Ic ng/1 — — - — - - - | = — - — - — —
TOC rng/l —_ — — — — — — — — - —_ — — —
‘T ng/l | — — = — — — — — — - - — — - |
D:0C g/l — — — — — — — — — — — — — —
‘P.oC ng/1 — - — = — — — — - - — — — -
D'Fa ng/L - — — — ~ — — — — — — — — —
D+ Mn ng/1 - — - — -~ - - - - = - - — -
Fe ng/1 — — — — — — — — - — — - — —
Mn ng/1 — — — — — — — — — — — — — —
I )4 ~ — — — = — — — — — - — — —
i usfen| — — - - - | = — — — — — — — —
Ca ng/1 — — — — — — — — — — — — — —
Mg ug/1 — — — — — — — — — — — — — —
pHA.87MH V) | ng/l — — — — — — — — — — — — — —
p HO, ORREE ng/l | — - |1 - 1 = -1 -1 = -l -1 -1T-=-1T=-1T=1=
pHO.07 VAV | ng/l - — — — — — — — — — — — — —
S04%” ng/1 — — — — - — — — — — - — - —
ci- ng/1 — - — — — — = - - - — — — —
Na ng/1 — — — — — — — — — — — — — —
K ng/1 — — — — — — — — - — — — — —
T + $10, ng/1 — — — — — — — — — — — — — —
WA ng/1 — — — - — — - — - — - — — -
Chl-a #g/1]25.9346[31.6(32.3|37.7/51.2[99.2115.4/101.0] 8590 28.8]86.2] 32.6] 24.8
Chl-b sg/t] 3.2 1 41| 2.5 | 4429127838883 |54127]181]36] 26
Chl-c #g/1] 9.2 | 55| 30)] 85| 58638 |153|141]27.6]180] 88 | 1.6 | 9.0 |10.5
T AT 4FY pg/1 1081250 6.6 | 5.2 | 6.8 [ 2.4 1.1 [17.6]|41.1[18.2117.3]137.6] 9.8 | 8.5
A AV RmELER | ng/l — — — — — — — — — i — — | -
VA3 ng/l ] — — — — — — — - — — — — — —
2-MIB ug/t| — — — — —~ — — — — — — — — —
VInop I RABCTINFP) | mg/) — — — — — — — — — — — — — —
i ES *EPOEHE ., FEI L ORD




AFRAKRBAKEWRRRER (EWEL
184 (200145)

K % & o|oN ARG EMEE | BRE WBOUTERB _
Wl & A | SR B4 BB i TR
IHE /AN BAGL | fisl | Eabest | Babs1 [ Ramist | bt | ksl ikl | kst | et | st B | B | B
#HER HB | 8/7 18/1418/1919/25 1 10/2 | 10/9 | 11/6 [11/13] 12/4 [12/11
R & 2 | If I g &= s | & ) B’
BRI 4> | 8:57 | 8:55 | 9:06 | 8:15 | 9:08 | 8:18 [10:17[ 9:20 | 9:04 [ 9:20
2ok m |343[3809/[4.24)8.60)4.25]|83.72(8.62]8.75(4,08] 858
Bokkig m | 0.50]0.50]0.50]0.50]0.50] 0,50 0.50(0.50( 0,50 0.50
& & € 128.6181.0)27.8(28.65]21,8|20,6]151)14.4] 85 | 7.8
kB C 126.6(27.7]26.0]21,8[21.,1]20.0[16.2]13.8]10.3] 87 129.21] 891169
[T wiins | snn |wmtem | awns | sroes | ses | woues | soma | seows | wpes ‘
B & (B MR ER | R | wR )RR (AR +5 | R | e s
) B em [23.0)250(29.2(25.5]82.6222)22.5]22.5)19.0] 255
B m | 0.41[037]0.57)0.48) 0.67(0.49 | 0.49 ) 0.48 ] 0.65 | 0.67]0.67] 0,15 [ 0,44
&k & 17 17 17 17 17 16 17 17 17 17
pH — — — — — —_ — — — — — — —
DO ng/1 — — — — — — — — — — — — —
BOD ng/1 — — — — — — — — — — — = —
COD (Mn) ng/l | 6,85 | 7,87 | 6.07|6.88 | 582|570 460463461 [517]8.94]4.81] 8,56
D.COD (Mn) | nmg/l | 4,75 |5.25 | 4.79]4.49|4.46|4,18[3.28]3.41]3.39]3.07]5.25]3.07] 4,44
‘P»cOD(Mn) | mg/) 12,10 2.12]1.28[1.89]1.86| 1.52] 1,41 [1.2211.22]12.10]4.48]0.67]2.12
COD (Cr) g/l | — — — — — — — — — — — — —
D:COD (Cr) ng/1 — — - = - - — — — — — - —
58 ng/l 118,51 13.0( 9.5 | 13,5 | 12.0( 16.5] 1756112, 0| 14.5] 12.6 | 18.5[ 8.6 | 13.7
KRR PN/1002)] - — — — — — — — — - — — — —
TN ng/l | 1,64 11,89 1.83 | 1.89 | 1.79]2.20] 2.36 | 2.40 | 2.56 | 2.67] 2.67 | .64 ] 2. 12
TP ng/l 10.12210.133]0.102]0.102]0.083]0.103]0.091]0.105/0.072[0.077]0. 151]0.072]0.108
NH,—-N ng/l |1 0.11)0.11]0.15]0.05)6.19[0.08]0.12]0.18[0.01]0.01]0.40]06.0L[090.10
NO,—N ng/1 10,027]0.048]0.046(0.043]0.082)0.038L|0.033]0.035[0.021]0.019]0.075]0.015[0. 030
NOy—N ng/1 10,92 0,96 1.10 1,47 11,121,567 ]2.04]1.91]201]2.24]2.24]0.68] 1.37
‘LN ng/1 | 1,06) 1.12 ] 1.30 [ 1.56 | 1.34 | 1.68 | 2,19 | 2,183 | 2.04 [ 2.2712.27 10,72 | 1.49
ON ng/l | 0,61 10,75 0.55|0.66|0.49(0.55]0.40]0.40]0.44]0.40] 1,01 [0.40]0.85
D+ ON ng/1 — — — — — — — — — — — — —
‘P.ON g/l — — — — — — — — — — - — —
‘DTN ng/1 — — - — — - — — — — - — —
TN ng/1 | 1,67 | 1,87 1.85[2.2211.83(2.28]|2.59]|2.53]2.48]267]2.67] 1.65]214
D:'PO4-P ng/1 10,02810,021]0.018[0,006|0.014]0.018]0,012]0.019(0.006)0D.006]0.088] 0. 003]0.012
D:.TP ng/l 10,041)0.0410.028]0,023]0.025(0.027{0,019]0.028]0.013]0.014]0.071/0.013]0.029
‘P TP ng/1 10,08110,092]0.074{0.079]0.058|0.0760.072]0.077]0,059]0.063]0.099]0.056]0,079
IC ng/1 — — — — — — — — — — — — —
TOC ng/1 — — — — — — — — — — — — —
‘'TC ng/1 — - — — — — — — — - — — —
D:0OC mg/1 — — — — — — — — — — — — —
‘P.OC g/l | — — — — — — — — — - — — —
D:Fe ng/1 — — — — — — — — — - — — —
D Mn g/l ] — [ — — -l -1 -T-=-T= -1 -1-= - [ -
Fo | - -1 - [ - [ -1 -1 =T -1 -T1T-1T=-1T-71T=
Mn e/l | — — — - — — — — — - - - [ =
8 L ;. — — — - — — — — — — — — —
s usfem| — = - - - — - = — — = — —
Ca ng/l — — — — — — — — — — — — —
Mg ng/1 — — — — - — — — — — - — —
pHA 87HYIE | mg/l — — — — — — — — — — — — —
p HO, 0RIE gt | — | - - T -1 -T-T-T=-1T=1T-1T-1T-1-=
pHO.O7NAVIE | mg/l — — — — — - — — — - — — —
50,°" g/l | — [ — | = - [ = - 1 -1 = ~ - 1 - — | =
ci- ng/1 — — — — — — — — — - — — —
Na e/l | — | = — — - — - — — = - — | =
K g — | - - - -1 -1 -1 =T -T-=-1-1T-1T°=
T + 810, ng/1 — — — — — — — ~ — — — — —
) A ng/1 — - — — — — — - — — - — —
Chl-a ng/1181.487.1127.4189.8|27.0]45.118.9[19.6/30.8(47.3]115.4] 13.9[ 44,0
Chl-b ng/1) 4.6 [ 54| L7123 [L7]82]|21]16]25]137]98[L6]39
Chl-¢ pe/ b 1.5 109411696187 70 1.4] 481 84]127.6]09]78
T=A74FV g/ 35.6(40.8]1 9.8 | 4.3 [ 70| 5.8 [ 40 1.9 [19.9] 59 ]41.1] 1.11]13.9
B4 VREEER | ng/l — — — — — — — — — — — — —
DRIV /1l — | - | - -] -] -] -1 -T-T-1T-1T-1T=
2-MLB g/l — — — — — — — — — — — — —
FAoAp VA RABCTHMFP) | mg/l | — — — — — - — — — — — — —
B3 *FIOHE L, Bk YR




A HARBAKKENEHESRE (B2
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X R A& NOo® o TEHRIE X R s BAROL R
L g A d AR R AL 2 7 TR
HE /sy B | ki | oo | bidse | afe | huibe | e | ks | ke | Luibe | Amise | hhibe | hanbe | babibe | bihike
[ EEAE] B 1/9 | 1/23] 2/6 | 2/18 | 38/6 | 8/18]|4/10 | 4/17| 5/8 | 5/16| 6/5 | 6/12 | 7/3 | 7/10
X _# W 2 | & | & W] oW o = | | 2 | & [ & | M
IR Bgs> 19:1718:3819:2819:20 {10:32) 8:15 | 8:48 | 8:15 ) 8:01 | 9:55 | 9:41 | 6:48 | 8:27 | 7:22
EYI m |410(93.81/381 37939837 3883804018309 [4.02]3.85]365]341
Fkaki m |0.50[050]050]0.50]0.50]0.50]|0.50]| 0,50 0650 0.50) 0.50] 0,50 | 0.50| 0.50
&_iR © 12917471581/ 40([165]17.8(18,1]128.0]27.0]19.1|26.1]28.2
& C | 3883|4848 )48 8580 |155]17.1]18.2123.0/24,0)237]|28,2]|28.9
A RS8 | Y ehniaim | dninin | puniad | sueiem | U9 | s | BomeR | Mimiel | BiaR | RE | BRAR
£ & 0n5) PR | st | deR | G | S | R | RS | RS | IRR | R INOWRY R ) R | RS
icg) AL cn [ 18.2(26.4]20.8]27.5[21.2[23.0[2l.9[17.7[15.3(18.9|18.4[17.7]2L.9]18.2
ER m |0.36]041)028)0.31)045]042]0.51]041]0.31038]0.12]0.83]0.43]0.29
KB 17 | 168 | 16 | 16 | 16 | 16 | 16 | 16 | 17 | 16 | 10 | 17 | 16 | 17
pH : — — — — — — — — — — — — — —
DO w/l | — = — — — — — — — — — - = —
BOD ng/1 — — — —. - - —

COD (Mn) | ng/l |16.03)|6.84)6,37|612)|591]604|748)838[83%)950)816/740]7 18] 6.55
D:COD (Mn) | ng/l | 4,55 |5.03[4.66|4.77|468]4.40)4.36(4.60]4.094|4.84|4.20/506]4.79]5.08
‘PeCOD(MnY | mg/) | 1,48[ 1,81 (1,72 1.85|1.28|1.648.12)8.69) 345 4.66(3.96) 2.85|2.89( 146

COD (Cr) mg/l | — - - = — — -

D:COD(Cr) | mg/t | — — — — — - — - - - — - — —
55 ng/l 118.83) 11,0 150113.8)14.6)10.3)14.6)15.0)23.5)21.0)27.0)19.5)12.0118.0
N L — — — ~ — - — — — — — — —
TN mg/L 192,98 |2.62 (2389|245 217 2.65)2.44|2.04 | 1,78 | 1.95 | 1.65] 1.96 | 2.00 | 1.81
TP mg/1 10,15310.098)0,121 (0. 11510.098/0,08110,00810.00910.15210.180/0.142)0.158]0, 11410, 163

NH,—N mg/1 | 0.11]0.08]009]012)0,06]007]002[004/003]004]004)0.13]0.23]0.35

NO,—-N g/l | 0,017]0.018 0..020 0,021 0..020 0.020]0.021]0.0240.018]0.026(0.027]0. 034]0. 054 0. 073

NOs—N ng/t 11,951 1,921 1.8611.82)1.27)4.61)1.59)0.80)0.63)0.70)074)0.93)0.798]0 81

'IN ng/l §12,0812.02)1,97/1.86 1,.851.70]1,63(0.86)0.68|0.77|0.81]1.09]|1.07]1.23
ON ng/t §0.49]0.40)0.52)0.50)0.72]0.75]0.78|1.02]0.98)1.12]0.86]0.85] 1,05 0.54
D:ON w/l | — — — — — — — — — - — — — -
‘P ON g/l | — — - — - | - - - - - - - - -
‘DTN g/l | — | — - — - — - - - - - - - -
‘TN ng/l | 2,57 | 2.4212.4912.46]2.0712.45]2.36)1.88 1.66]1.80)1.67| 1.94)2,12) 1,77
D:PO4-P mg/1 10.017]0.010) 0. 009 0. 008 | 0. 008 C. 005/ 0. 003 | 0. 007 (0, 003 0. 006 0. 005 0, 005 0. 0131 0. 039
D-TP ng/L |0,081]0. 015[0.033[0.025[0,0280.020]0.017[0.0L70.051]0.020]0.022]0.022]0.036]0.072
‘P TP ng/1 10.072]0.078]0.088(0.090)0.070(0.061]0.081|0.082|0.101|0.110(0.120]0,136]0.0780, 091
) IC ng/1 — — — — - — — - - — — - — -
TOC ng/1 — — — — L= — - _ - - - — - -
‘e mg/l | — — - - - - - = - - =) = - -
D:0C e/l | — — — — - — — — - - — — — —
‘P.OC ng/l | — = - - - - - - - - - - - -
D'Fe ng/l — — — — — — — — — — - — —_ —
D« Mn we/l | — — = — — — — — —~ — - — — -
Fe ng/1 - — — — — — — — - — — — — —
Mn ng/l | — — — - - — - -~ — — — — — —
8 B i3 — — - - - - - - - - - = - -
et | usfer] — - - - - - - - = - - - - -
Ca ng/1 — — — - — - - - - - - - - -
Mg ng/l | — — - = — - - - - - — - - -
pHASTVAVE |mgn | — | — [ = | = [ — | — 1 =1 = - =1 -1 —=-T1T-=71 =
p HO. 0B4EE g/l ] — — - — - — — - - — = - — -
pHOOTAAVIE | ng/t | — - — — — — - - - - — - - | -
504% mg/l | — — ~ - - - — - — — — - - -
ci1- ng/1 - — - — - - - - - - - - - -
Na ng/1 — — — — — — — — — — — — — —
K ng/l | — — — — — — — — — — — — — =
T + 810, ne/l | — — — — — — — — — - — - - —
WEYUAH  |wi | — | - | - | = | = [ - | = [ - = [~ - " — |- 1"
Chl-a g/l 27.1127.83]27.2|34.6|36,544.6)84.490.6)1159)89.2|252|87.0|83.2)22.5
Chl-b vg/1]1 2.8 | 2.4 |66 |42]3 6.4 |10.4)10.0]10.8f 9.2 | 2.1 | 2.8 | 3.4 | 35
Chie #e/1] 8.6 | 8.6 [ 8.1 87 | 9.1 [16.0] 220 17.719.0]19.4] 8.0 | 1.3 | 8.8 | 8.9
754717y |ug/1] 4.5 | 8.9 | 6.8 | 0.4 | 1.7 | 2.1 | 0.4 |88.3| 2.5 [26.9|17.4[3L.2]| 8.4 | 7.9

BAAVREEEY | ng/l — — | = — — — -

DALY e/l — — — | — - — - — — |1 -1 =1 = - —

3-MIB ng/ | — — = — | = — — — - — - — — -

o) ERERECTINEP) | ng/1 — — — — — — — — — —

e *EIQIHE I, BBk kbl




AP ROk KE W R MR R (RWE2)
PRI (20014F)

K 7R P RS ERE | BEE Wi
W 4 B ptmmmie i T

IHE /A s  BAGL | bihde | Lilibe | tahise [ daibe | atie | ke | banibe | Labibe | e [ ase| Bk | BN |

ALH HH | 8/7 [8/1419/19 | 9/25 | 10/2 | 10/9 | 11/6 [11/18] 12/4 [12/11

A & ® | E | g | | & | W[ W O| W

il i)
ksl R ] 9:12 1 8:48 | 8:58 | 8:05 | 9:03 [ 8:12 [10:01] 9:14 | 8:55

9:13
ki m_ | 3503494098385 |4.28[83.85(3.61]4.01]4.09]3.98
Bokkig m_J0.50]0.50 | 0,50 0.50] 0.50 | 0.50 [ 0.50 [ 0.50 | 0.50 | 0.50
R i ‘C 123.5(28.2127.8)28.0]21.6120.6]151]14.4] 85 | 7.8
K@ C | 26.2[27.11260]21,8[21.1]20.0]16.1|138.4|10.1] 88 128.9[ 3.3 ]16.8
LT PR | 2ea | BeE | Bres | srer | sies | s | doues | wues | s
& Q8% PR LR | ER | MR | e [ Ee | SR | JEE | mR s
B e | 19.0(20.0128.4]24.1]1328122.5(188[255]19.0/21,0]328]132]2L0
B -m [0.37]0.290.58]0.41]|0,67[0.50[038]0.52/0.65]0.64]0.67]0.12]0.42
KB 17 17 17 17 17 | 18 17 17 17 17
pH — — — — — — — — — — — — —
DO ng/1 — — — — — — — — — — — — —
"BOD ng/1 i —

COD (Mn) mg/l | 7,48 | 7.41 | 5.99 6,28 |6.18 | 6,41 | 4.73|4.31[4.85(5.29]8.50]4.31][8.59
D.COD (Mn) [ mg/1 | 4,51 [5.81]4.77|4.78]4.64[4.03]8.20]841]38.45]3.62]5.31]320]4.49
‘P.COD(Mn) | mg/l | 2,922,101 1.22] 1.55]1.49]2.38] 1,58 0.80]0.90 | 1.67]4.66]0.90] 2 10

COD (Cr) ng/1 —

D+«COD (Cr) ng/l | — — — — — — — — - — — — —
58 ng/1 | 27,01 16,5 [12.0 [ 11,5| 11.0 | 16,5 [ 17.0 [ 14.6 [ 15.5 | 14.0] 27.0 [ 10.3 [ 16.0
Rt eH/100mY|  — — — — — — —

TN mg/1-] 1,55 | 1,96 | 1.98 [ 1.80 | 1.71[2.25

TP ng/1 10.13910.198)0. 097 0. 099 0. 08010, 099

NH,—N ng/1 1 0.09[0.11)0.08/0.04/015]0.09

2
0
NO,—N mg/1 |0.024]0.048) 0. 040 0. 042 (0. 031/ 0. 031]0.033]0.033) 0. 024 |0, 020] 0. 073] 0. 017] 0. 030
1
2
0

NO,~N | mg/t | 0.70 [ 0.01 | 1,21 143 107 | L.64 | 1.07 ] 1.92 | 248 1.96| 2.48 | 0.63 | L. 36
LN ng/L | 0.817 L 07| L8| LI L.25] L76 | 2,09 | 2. 12| 262 1.99 .52 ]0.68 | 1.49
ON [ mg/t | 0.71[ 0,90 0.57 ] 0.50 | 0.50 [0.60 | 0.41] 0.40 | 0.44 | 0.4 [ 1. 12]0.40 | 0.67
D'ON me/t | — - — — — — — - [ = - — — -
‘P ON ng/l | — = - = - -1 - - - - - - | =
'D. TN el I R T = = S = = R B I
TN ng/1 | 1,52 | 197 | 1,90 | 2.00 | 1.75 ] 2.86 | 2.50 | 2.52 | 2.96 | 2.43 | 2.96 | 1.52 | 2. 15

D:PO4-P ng/1 10.030]0. 026/ 0. 015

0. 0.
D«TP ng/1 |0.044)0.051]0.030)0.022(0.023[0.080]0.01910.081[0.017[0,01410.081[0,014]0.031
‘P TP ng/1 10.095[0.147]0.067]0 0

Ic ng/1 -
TOC ng/l | — — - - - - - — - — -
‘re mg/l | — - - - - = - - - - -
D:0C mg/l | — - - - — — - - — - —
‘Proc | mg/t | — - = - - - - - - - -
D'Fo e/l | — = — — — — - - — — —
D Mn ne/l | — — — — — — - — — — —
Fe ng/1 — — — — — — - - - — —
Mn e/l | — — - — — = = - - - —
I & | - | - e I R N i I
Hmag usfem| — — - — - — - — — — -
Ca me/l | — — — — — — — — — — —
Mg ng/1 — — — — — — — - — — —

pHA87NVAVE | ng/l — -

p HO. ORRIE ng/1 — —

pHO.07ZNAVIE | ng/L - | =

50,*%" ng/l1.] — - — - — — - - - - -
c1- ng/l | — - — = - - - - - — —

Na g/l | - — — — — — — — — — —

K ng/l | — - - - - - - - - - -
TS0, | mg/t | — - - - - - — — — - —
bty Vh | men | - - - - = - - - — - -
Chl-a ug/1]43.0| 36,53 .8187.8(87.0( 154126329 115.9] 12.6 | 48.4
Chl-b pg/l] 6,0 | 3.4 | 8 26 1291241221 10]22 . L0 | 45
Chl-c ng/y ] 21 1 4.6 | 5 7.8 | 7.8 185|657 ) 1.9 | 4.8 22.01 1.3 | 8.8
 v=AT4FY |we/1 449 2.0 | O 58 | 18,01 57 | 20 | 21 | 88 4.9 0.4 | 10.9

B AV REEEA | e/l — =

HP Rl L e e e e e
ot
DO

VARV ng/l — —

2-MIB ng/l — —

Mnasy eI | ng/3 | — — — — — — — — — - = =
S *ENDI RIS, B L 0 fbre ,




